## <u>Exhibit A</u>

## Dennis, et al. v. JPMorgan Chase & Co., et al., 16-CV-6496 (LAK) (S.D.N.Y.) Lodestar Chart by Timekeeper

Timekeeper/Title	Hours	Blended Rate	Lodestar at
		Historic Rate	Historic Rate
Amanda Miller	Total Hours: 21.1	Blended Rate: \$535	Total Lodestar: \$11,288.50
2017	21.1	\$535	\$11,288.50
Benjamin Jaccarino	Total Hours: 2201.45	Blended Rate: \$565.07	Total Lodestar: \$1,243,983
2016	17	\$460	\$7,820.00
2017	323.05	\$500	\$161,525.00
2018	317.95	\$535	\$170,103.25
2019	345.45	\$555	\$191,724.75
2020	506.7	\$595	\$301,486.50
2021	544	\$595	\$323,680.00
2022	147.3	\$595	\$87,643.50
Craig Essenmacher	Total Hours: 81	Blended Rate: \$886.54	Total Lodestar: \$71,810.00
2018	4	\$820	\$3,280.00
2020	30.5	\$890	\$27,145.00
2021	46.5	\$890	\$41,385.00
Christopher Lovell	Total Hours: 1908.51	Blended Rate:\$1,107.39	Total Lodestar: \$2,113,467.60
2016	28.95	\$990	\$28,660.50
2017	174.35	\$1,045	\$182,195.75

2018	272.45	\$1,045	\$284,710.25
2019	237.62	\$1,075	\$255,441.50
2020	429.9	\$1,140	\$490,086.00
2021	604.14	\$1,140	\$688,719.60
2022	161.1	\$1,140	\$183,654.00
Christopher McGrath	Total Hours: 955.11	Blended Rate: \$815.54	Total Lodestar: \$778,932.65
2019	10.81	\$765	\$8,269.65
2020	342.8	\$810	\$277,668.00
2021	457	\$810	\$370,170.00
2022	144.5	\$850	\$122,825.00
Christian Siebott	Total Hours: 87	Blended Rate: \$855	Total Lodestar: \$74,385.00
2017	87	\$855	\$74,385.00
Declan Jenkins	Total Hours: 451.45	Blended Rate: \$125	Total Lodestar: \$56,431.25
2021	229.4	\$125	\$28,675.00
2022	222.05	\$125	\$27,756.25
Ed Kroub	Total Hours: 348.50	Blended Rate: \$655.88	Total Lodestar: 228,573.75
2017	336.25	\$655	\$220,243.75
2018	12.25	\$680	\$8,330.00
Gary S. Jacobson	Total Hours: 946	Blended Rate: \$1,002.41	Total Lodestar: \$948,277.50
2017	369.75	\$990	\$366,052.50
2018	185	\$990	\$183,150.00

2019	154.25	\$1,020	\$157,335.00
2020	222.25	\$1,020	\$226,695.00
2021	14.75	\$1,020	\$15,045.00
Howard Hill	Total Hours: 2882.05	Blended Rate: \$348.96	Total Lodestar: \$1,005,733.75
2017	5	\$300	\$1,500.00
2018	74.75	\$320	\$23,920.00
2019	32.75	\$335	\$10,971.25
2020	1095.8	\$350	\$383,530.00
2021	1450.5	\$350	\$507,675.00
2022	223.25	\$350	\$78,137.50
Jason P. Eyster	Total Hours: 3076.1	Blended Rate: \$845.92	Total Lodestar: \$2,602,146.00
2017	76	\$745	\$56,620.00
2018	145	\$770	\$111,650.00
2019	358.5	\$800	\$286,800.00
2020	1101.8	\$860	\$947,548.00
2021	1328.8	\$860	\$1,142,768.00
2022	66	\$860	\$56,760.00
John Hudak	Total Hours: 154.60	Blended Rate: \$185	Total Lodestar: \$28,601.00
2017	154.6	\$185	\$28,601.00
Jody Krisiloff	Total Hours: 598.10	Blended Rate: \$904.16	Total Lodestar: \$540,780.50
2016	8.2	\$835	\$6,847.00
2017	116.7	\$870	\$101,529.00

2018	73.9	\$870	\$64,293.00
2019	234.1	\$895	\$209,519.50
2020	57.6	\$960	\$55,296.00
2021	52	\$960	\$49,920.00
2022	55.6	\$960	\$53,376.00
Keith Andrews	Total Hours: 1038.15	Blended Rate: \$200.00 <sup>1</sup>	Total Lodestar: \$207,630.25
2017	102.8	\$205	\$21,074.00
2018	102.15	\$215	\$21,962.25
2019	91.2	\$225	\$20,520.00
2021	448.5	\$260	\$116,610.00
2022	293.5	\$300	\$88,050.00
Keith Essenmacher	Total Hours: 72.8	Blended Rate: \$800	Total Lodestar: \$58,240.00
2020	26.6	\$800	\$21,280.00
2021	46.2	\$800	\$36,960.00
Katie Hill	Total Hours: 3311.35	Blended Rate: \$148.68	Total Lodestar: \$492,323.25
2018	393	\$80	\$33,040.00
2019	191	\$100	\$19,100.00
2020	846.9	\$135	\$115,681.50
2021	1473.95	\$165	\$243,201.75
2022	406.5	\$200	\$81,300.00
Lotan Korenblit	Total Hours: 13.75	Blended Rate: \$175	Total Lodestar: \$2,406.25

<sup>&</sup>lt;sup>1</sup> Keith Andrews hourly rate was capped at the paralegal maximum of \$200.

\_\_\_\_

2017	13.75	\$175	\$2,406.25
Misa Shimada	Total Hours: 867.70	Blended Rate: \$801.29	Total Lodestar: \$695,279.50
2017	137.8	\$775	\$106,795.00
2018	307.7	\$805	\$247,698.50
2019	54.5	\$805	\$43,872.50
2020	337.2	\$805	\$271,446.00
2021	30.5	\$835	\$25,467.50
Matt Kuipers	Total Hours: 139	Blended Rate: \$298.61	Total Lodestar: \$41,507.50
2020	7.7	\$275	\$2,117.50
2021	131.3	\$300	\$39,390.00
Robert Rodriguez	Total Hours: 233.50	Blended Rate: \$380.51 <sup>2</sup>	Total Lodestar: \$88,850.00
2018	208.5	\$600	\$125,100.00
2020	25	\$635	\$15,875.00
Travis Carter	Total Hours: 282.75	Blended Rate: \$585	Total Lodestar: \$165,408.75
2020	251.6	\$585	\$147,186.00
2021	26.95	\$585	\$15,765.75
2022	4.2	\$585	\$2,457.00
Tobias Fenton	Total Hours: 2501.40	Blended Rate: \$297.34	Total Lodestar: \$743,775.00
2017	123.2	\$270	\$33,264.00
2018	196.6	\$285	\$56,031.00

 $<sup>^{2}</sup>$  208.50 of Robert Rodriguez's hours were capped at the \$350 document review maximum. The remaining 25 hours were billed at his standard hourly rate.

2019	107.9	\$300	\$32,370.00
2020	63.6	\$300	\$19,080.00
2021	1582.4	\$300	\$474,720.00
2022	427.7	\$300	\$128,310.00
Victor Stewart	Total Hours: 2942.25	Blended Rate:1,016.48	Total Lodestar: \$2,990,725.80
2017	37.4	\$990	\$37,026.00
2018	308.24	\$990	\$305,157.60
2019	473.66	\$1,020	\$483,133.20
2020	1036.9	\$1,020	\$1,057,638.00
2021	844.05	\$1,020	\$860,931.00
2022	242	\$1,020	\$246,840.00